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General Instructions :

(ih- The question paper com prizes of twe sections, A and B. You arc to attempt both the
seclions,

(i) All questions are compulsory.

(it} DThere is ro overall choice. However, internal choice has been provided in all the three
questions of five marks category. Only one gption in such questions is o be attempled.

fiv) Al tuestions off Seetion A and all questions of Section B are to be attemptied seporately.

' GQuestions number I to 6 in Section A and 17 to 18 in Section B are short answer type
questions. These questions carry one mark each. -

(02)  Questions number 7 to 10 in Section A and 20 o 24 i Section B are short answer type
aiestions and carry two marks sach.

twit)  Questions number 11 to 14 in Section A and 25 and 26 in Section B are also short
Canswer iype questions and carry three marks each,

(uiit) Questions number 15 and 16 in Section A and question number 27 in Section B are
long answer type questions and earey five marks cach,

3112 1 F.T0;




e A

(i)

fit)

fittd

fie)

()

fui

(i)

(viit)

T NV UF & g 9P, 9T 37 i g7 @, # &@jey 73 F | Sugew gl 9r & §vE)
& am foe & |

wff xSt 2
W T 7Y W S 999 M9 T E v via-w St & g gwn d yer

w9 G 7 & | 37 5w ¥ 309 Fae A9 Wl GE agq @ aut fae & A
T i #

Sy Wi 3 ST T q & @it WwEl & I 9AF-yAE W 3R W faEd |

W & & W T 1R 6 I G T F T G 17§ 19 F 59T 812 I an
UH-UF ¥F & £ |

AT 3 & FYT HTA 7 § 10 3K 9T T F I AW 20 T 24 F T o-a A
& Bl It aa #

G S % N WEAT 11§ 14 ST 9 & Nv a@y 25 W 26 F NvT d-a
s & Sie T et & 1

T 3 & §IT T 15 W 16 I WA T F NI HEGL 27 W VT WI-giT @
¥ T e I A & 4

SECTION A
T A

1. Out of 60 W and 40 W lamps, which one has a higher electrical resistance when in use 7
WA & FOF 60 W I 40 W F o ¥ § fEoe fagg R s @ 27

2. Why is a series arrangement not veed for connecting domestic electrical appliances in a

cireait ?

o] faga Tftsl & 5@ ag 999 3% 9Red § AR § = A6 Sier st 2

3. Draw the following diagram in your answer-bock and show the formation of image of the
object AB with the help of suitable rays.
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4.

i

How does the flow of acid rain water into a river make the survival of aguatic lifie In the
river difficult 7

sty ot @) ST o AR e A4 A seed g s W AR & el si e e
Ffaa w4l & S @ 2

Why s respiration cangidered an exothermic process ?
v W) e shE w8 e e 2
Bulance the following chemical equation :

Fos Gri ~_Heat

Fafefad wamEs wimo & A i
H

» F"'E(}u + 502 + 80,

Eanl|
FeSO, ——— Fe,04 + 50, + 80,

Draw a diagram to show the magnetic field lines around a bar magnet, List any two
properties of magnetic field lines,

Wﬁgwmwm;ﬁaﬁam%@maﬁﬁmﬁ%ﬁmmmmmu
T A7 e & w8 4 R

Draw ray diagrams to represent the nature, position and relative size of the image
formed by a convex lens for the object placed :

(a) al 2R,
(b}  between ¥, and the optical centre O of lens.

ﬁﬁmmﬁmﬁﬁﬁmﬁﬁﬁﬂnﬁ e si s TEs & Y T A
WA ayter wats f@e S [ T

(37) & & 2F, B W1

(@) FW F fg F, it IEEE 3% 0 F 9 |

Give an example of a decomposition reaction. Describe an activity to illustrate such a
reaction by heating,
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10. Write the chemical formulg i‘-::-r.hlé‘aching powder. How iz bleaching powder prepared 7
For what Purpose is it used in Baper factories 7 ]
%wwmﬁawmlﬁﬁnmaﬁﬁwwmw%?w
mﬁﬁrﬁﬁaﬁ-ﬂ‘fﬁﬁ?ﬁlﬁnmﬁgm%mwm% ?

11. Name two metals which react violently with cold water, Write any three observations you
would make when such a motal ig dropped into waler. How would You identify the (Tr
evolved, if any, during the reaction ? 1
ﬁﬁmm-gsif%#mi%ﬁaqa‘f 38 aaﬁa;ﬁrmaa?ﬁ#ﬁmmr'?:i;ﬁﬁmv@

F ST T Zery mmﬂﬁmﬁﬁﬁamﬁmxmwﬁm#ﬁﬁqmﬁ
LA — W w4 2
12, (a)  Why ure covalent compoundy generally poor conductors of electricity ?
th)  Name the lollowing compound -
H I
| [
H—=¢C—¢ —C'=T1
| Il |
IR
el Namoe the Bas evolved whon ethanoic acid is added to sodium carbonute. How would
YOU prove the presonce of this gas ? 3
(%) mfmﬂﬁﬁzﬁwﬁgﬁ_%mm@ﬁmjﬁfﬁﬁﬁ?
(@) Fefafan s a5 m fefam
11 Il
[ |
H—0—0 oL H
| 11 !
H 0 H :
(|) 3§ g mmﬁ@qaﬂmmﬁﬁam@%ﬁm'w&mﬁ?ﬁ%r
M 39 9 37 vy 3 fre I 7
13, (a) Distinguish between the terms ‘m'crluadir-pg' and 'shm't-'circuiting_' 48 used in domestie
cireuits,
(b) Why are the coils of electric toasters made of an alloy rather than 4 pure metal ? 3
(37) ﬁqmﬁ%ﬁﬁﬁﬁ‘aﬁm'am SRR T
(@) %m_%wmﬁrﬁﬁ;ﬁg@m@ﬁqmwmﬁw
ERIEIRS G

4. Two lamps, one rated 40 W at 299 v and the other 60 W a¢ 220 V; are connected in
parallel to (he eleetric supply at 220 v
ta)  Draw a eircuiq diagram to show the connections,

(b)  Culeulate the current drawn from the electric supply,
te) Caleulate the total energy ¢onsumed by the two lamps together when thay operite
for one hour. d
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15. () What is meant by dispersion of white light ? Describe the formation of rainbow in the

slky with the help of o diagram.

(b)  What is hypermetropia ? Draw ray diagrams to show the image formation of an ohject

by |

(1) Hypermetropic eyoe

(1) Correction made with g suitable lens for hypermetrapic eye. ]
OR

(e} Give reasoms for the following :

iy Colour of the clear sky is blue.

(ii) The sun can be seen about lwo minutes before actual sunrise.
(iii) | We cannot see an chject clearly if it is placed very close to the eyes,
(b}  What is Presbyopia ? Write two causes of this defect, B
(31) mm#mﬁwm%?mﬁﬂmﬁmﬁﬁw
T F quiq FHiew |
(@) s S F@ B R 7 R sEl & wemw ¥ fer oRRhE 3 R ok
sfdfama 1 F7r feany
) g 3 g% T 5w
(i) IYYTh Y T EHGE dE 93 H G a8 W
HAg=r
(37) TrfafEs & oo s fafa -
' (i) T SEHRT & 7 A e E |
(i) Y4 % ArlEE 337 6 % wHG W W A e Wl @ 9 e 3 e
-l
| (i) 3 feet T &0 61 & 980 free @@ S0 9 33 = A 3@ o g |
(@) SH-giefeer 39 #  € 2 39 AW & 2 s fefae |
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16. On the basis of Mendeleev's Periodic Table given below, answer the questions that, follow

the table :
i LUt 155 ozl (s 25 B 6 Vi N
Oxide | R0 | RO | RO, | RO, [ RO, | RO, | B0, RO,

Hydride| RH | RH, | RH, | RH, | RH, | RH, | RE

Periods A B/A BIA B|A B A BIA B|A B Transilion
l SOries
H
) 1008
9 La e B [ N ) F
8830 18012 110-8]1 12-011 | 14-007 |15:898 | 18998
9 Na Mg Al Si P s ]
2289 124-31 (2998 |28:08 30:974 [32:06 35453
4 First K Ca Se Ti Vv Cr|  Mn|Fe Oo N}
goried 1539102 (404108 44-96| 4790 5094 o201 64:94|55:85 BE:493 HHT1
Socomnd Cy In|Gn Ge As Se Br
sorica :| B354] B53T7|6972 |79.50 74-92 |7R96 |79:909
5 First  |Rb Sr Y Zr| Nb Mo Te| Ru Rh 1"
siries [ |Bh-47 |BT62 88:91| 91-22| 9291 9594 85110107 102:91 1064
Soeond Ag Cd [In Sn Sh Te |

siwries 1 107-87 11240/ 11482 (11869 12175 |127-60 |126:90

G Firsl, |Cs Ba La HF Ta W Os Ie 1y
series (13290 118734 | 138:91] 17849 180-95 183-86 182 1928 195.09
Second Au Hg (TI &) Bi
series ;| 19697 200-59|204-37 |207-19 208-98

la)  Name the element which is in
(i) I group and 3™ period.
(i) VI group and 27 period.
(bi.  Buggest the formula for the following :
() oxide of nitrogen
(it} hydride of oxvgen

e} In group VI of the Periodic ‘Table. why does cobalt with atomic mass 5894 appedr
before nickel having stomie muss 5871 2

td)  Besides gallinm, which two other elements have since been discovered for which
Mendeleev had lelt gaps in his i’criu:_rdi-: Table ?
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Na and K, find the average atomic TDass of Liand K and

the canclugion drawt from this

o) Using atomic THasECS of L,
{ Na. Swate
5

cornpare it with the atomic mase o
aotivily,
OR

el Wy o we classily olements ?
ed by Mendeleey 10 ¢creating his Periodic

Why did nondeleey leave gome gaps in his Periodic Table ?
wus there DU mention of Noble

() - Whal, were the bwo priterin us Table 7

(e

(dy o Mendeleey's periodic Table, why
{Lelivrm, Neon and Argon n

the two isolopes of chlorin

anl atomic magses of in

0 Justify your answer.

nmﬁqﬁf@ﬂwﬁi‘aﬁmﬁf@n:

ERses like

(1) Would you place g, C1-35 and Cl1a7 in different slots
boeause of their difler thie same alot because their chamical

pmpmiuu are tho same
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SECTION B

A o

17. What ig the offect of DNA copying which is not perfectly accurate on the reproduction
process 7 1
Wﬂﬁﬁnmmﬁ?ﬁaﬁmﬁammqéﬁ?ﬂwmﬁéﬂé ?

18, How do autotrophs oblain CO, and N, to muke their food ? |
i g deE A & A co, ¥ N, WOl 9 N € 2

19. Firewood is our conventional fuel, List any four reasons for replacing it by the alternate
wources of energy, 1
Ersn?ﬂaﬁﬁmwmém%!mm%ﬁmaﬁﬁmm%ﬁﬁ
A ar fefEe |

20. Discuss one limitation each for the extracting of energy from :
() winds
(bl tides. 9
Erefefis 3 WoE ¥ I W S F) UH-uE d A e i
(31) e
(@) =Hi

21, list gny four characteristics of biogas on account of which it is considered an ideal fuel, 2
i o @ W el & I Fi RS I 8 T ey g A S
£

22 Name any two sexually trangmitted diseases. What advice is given to prevent them ? 2
ﬁﬁwéwm?ﬁaﬁwaﬁ%mﬁf@q|ﬁﬂaaﬁ%ﬁﬂww
fer S @ 7

99, What are fossils 2 What do they tell about the process of evolution 7 2
ECEL wﬁﬁ*%’?aﬁ@m&a#ﬁaﬁwm&rﬂmaﬁ%?

94, Write one function each of the following components of the transport system in human
beings 2
(a) Blood vessels
(b Blood platelets
{¢y  Lymph
(el Heart
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26.

26,

27.

31¢2

Hmaﬁaﬁqﬁa%ﬁmﬁ@aﬂﬁﬁﬂ%@ﬁmlﬁﬁw:

(37) s =nfmmd
(@) T fawmn
(H) =i

(7} we=

Write any three differences between Aerabie and Annerobic respiration,

How is vzone formed in the upper atmosphere 7 Why is damage to ozone layer a cause of
cimeern to us ? What causes this damage ?

AMAVES & F I A SHEE %Hmé?mhmﬁﬂﬁﬂﬁﬁrrmw
ﬁmaﬂ%ﬁﬁﬂﬁmmws?

(0)  Draw the structure of a neuron and label the following on it -
Nucleus, Dendrite, Cell body and Axan

(b}  Name the part of neuron -
(i) where information is aogquired,

(i) through which information travels as an electrical impulse.
OR

{a) What is (i) phototropism and (if) geotropism 7 With labelled diagrams degeribe an
activity to show that hight and gravity change the direction that plant parts grow in,

(b)  Mention the role of each of the following plant hormones :

(1)  Auxin
(i) Abscisic acid
(31) ﬁﬁﬁﬁmﬁmwﬁiﬁ?ﬁﬂwmﬁmﬁmm:

(@) fEfEr & 35 97 5 9w fofaw .
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(31) (i) FRTHERT A4 (i) EeEEAGT 34 8 ¢ 2 e s w s @
T framay & iy @i o %% w9t @ fF 9Ew a9 e URY & 9fE
g s & feem & ofEfie = 3| #

(@) Frafofes o=y emt = g e .
(i) 3l
(i) s v
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